Weak Acid vs. Strong Base pH Curves

Possible Ka values:    2.0x10-2     2.0x10-4     2.0x10-6
Possible initial acid concentrations (cao):    0.10M     0.50M     0.90M
Possible initial base concentrations (cb):    0.375M     0.50M     1.0M
The volume of acid solution titrated has been set at 50.0 mL.

1)  Calculate the initial pH of an acid solution with a Ka value of 2.0x10-4 and an initial concentration of 0.50M.  Does that make sense with what you see in the graphs on this handout?






2)  Calculate the “half-way pH” of an acid solution with a Ka value of 2.0x10-4 and an initial concentration of 0.50M.  Does that make sense with what you see in the graphs on this handout?






3)  How will this graph look different if the initial acid and the initial base concentrations are both decreased to 0.10M?  Fill in the NEW values below and then sketch the new graph on top of this one.
[image: ]

initial pH= _______________     half-way pH = _______________  equivalence point pH = _______________

volume of base at equivalence point = ____________________ mL

4) How will this graph look different if the Ka value is increased?  
Fill in the NEW values below and then sketch the new graph on top of this one.
[image: ]

initial pH= _______________     half-way pH = _______________  equivalence point pH = _______________

volume of base at equivalence point = ____________________ mL

5)  How will this graph look different if the initial base concentration value is increased? 
Fill in the NEW values below and then sketch the new graph on top of this one.
[image: ]

initial pH= _______________     half-way pH = _______________  equivalence point pH = _______________

volume of base at equivalence point = ____________________ mL
image1.png
18 yAkb 7E4-—\uo_5

l{50,8.55]

volume base






o

gkl e it e




